Pg 11Y-175 1-134

“NeAANn—
I))ecguaﬂor\ q) w-18 20) B
2) Solve D) 8m Z1) W mj
)r=S+¢ 1) C= (s_)(‘: 37) ??_)D (me?\
Db-c-Ax 1) Y,
N-5 ke 23) 3044
” ;_"_—'-‘_; o
Z==b\|
q)Y'-‘?)(-H 17) 19 (hmz
8) Sz(4. ,8)\/2%
1) 1g) 10, em?



3K Retios Oct. 20, 2006
- andl Rc‘)&e S

Ro\‘\io oC <] 1

c)b_'\S %
A
)

RO&Q O\C qur b‘




eXiJ atennis Tecorm wWo N /
@O-\: their b Meche - 610 é

F“’\A ’H/\e g Lo 06@

Po{)l D = —‘AZ""S"A — L@f_,_ l

=

loss=2S ,5 e

Ha\u 10 he Sard g5 @ Rq*e'

a—

5 \/\/'IV\S Per 1 IOSS@A




UV\(+ Pc\"&gl a FOL_*C PQY“ -
O N~ S;Ver\ \/V\t‘\-
¥ 4 i< inthe RBoitom o Fhelrmction

2] you ren[0RminE0 My

. On, t Rate
W hat (s >/o Vil Ave oo S,oeed\/

Siven inCany)

Pe—




O 1L

@Pil%@ (€] - ~3(R3,4
5- ‘((o\>%\-3-l°((g) D\O{Q\Q

;{3“3\5@)/&%
T)\ere Gyfe ?r\ly D\Oﬂ/‘ou

fn\S




	Page 1: Oct 26 - 7:53 AM
	Page 2: Oct 26 - 7:53 AM
	Page 3: Oct 26 - 7:53 AM
	Page 4: Oct 26 - 7:53 AM
	Page 5: Oct 26 - 7:53 AM

